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=Year 11    =Matrices, Vectors, Complex nos    =Worksheet 2
	1. Find the inverse of  
[image: image1.wmf]ê

ë

é

3

2

  
[image: image2.wmf]ú

û

ù

-

-

4

3

.

	2. Find the value(s) of  a  that will make 
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 a singular matrix.

    

	3. Given 
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, find 
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	4. Solve for Y, given 
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	5. Solve the matrix equation 
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	6. Find AB given 
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. Hence solve 
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	7. Use matrix methods to solve for x and y,
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	8. Use matrix methods to solve for x and y,
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	9. Use graphics calculator to solve the simultaneous equations
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	10. Use graphics calculator to solve for x, y and z,                    
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	11. Given 
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, find 
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	Numerical, algebraic and worded answers.
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2.  (1/3, (1


7.  x = 1, y = 0


8.  x = (1, y = 0


9.  x = (1/10, y = 17/10,


     z = (1/2


10. x = 1, y = 2, z = 1


11. Reflection in x-axis
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